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1. Consider the table Parts(PartID, color, weight), stored in a PostgreSQL database, where PartID has been declared to be a primary key.
a) How many single-attribute indexes can you declare on this table?

ANSWER: 2, because PostgreSQL and most other DBMSs declare an index on the primary key.

b) How many clustered indexes can you declare on this table?

ANSWER: None, because PostgreSQL, and most other DBMSs, declare a clustered index on the primary key, and a table can support only one clustered index.
2. What is the parser’s output given this query as input?

SELECT donorname, commname
FROM indiv JOIN comm USING (commid)

WHERE month = 3
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